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Pre-Calculus Final Exam
1. Given 
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a.  
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c.  
[image: image5.wmf]2

659

3

++

+

xx

x


d. 
[image: image6.wmf]32

676

3

++-

+

xxx

x




2. Find the exact value for 
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a.  1.32
b.  
[image: image10.wmf]56

65


c.  
[image: image11.wmf]16

65


d.  
[image: image12.wmf].927;1.18

ab

==




3. Find the partial sum 
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a.  39.3
b.  
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c.  9.8
d.  0


4. What is the limit of 
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a.  2
b.  0

c.  
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5. Solve the triangle SRT:  
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a.  
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6. Evaluate 
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using DeMoivre’s theorem:

a.  
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7. Express in rectangular form: 
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b.  
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c.  
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8. Evaluate:  
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a.  3
b.  5
c.  
[image: image32.wmf]3

±


d.  does not exist


9. Simplify:  
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10. Express in condensed form:  
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c. 
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d.  
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